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Electrotecnia

SERIE 3

Primera part

Exercici 1
Ql a Q2 ¢ Q3 ¢ Q4 b Q5 b
Exercici 2
Q) A, =2=2214
R, 100
b) A, =2=20_05A
R, 200
c) 43 =0A

d)W,=U,-1=U, (4, +A,) =100- (1 +0,5) = 150 W

OPCIO A
Exercici 3
V 200
a)d,=2="=20A
R, 10
U 400 A 400 A 20-230
byn="=— - n==2=— -5 4 === =11,5A
Uy 230 Ay 230 Tt 400

_ W;—R;A%  5300—10-202

c) W, =RA3+R,A2 > R, = yr I Tr 9,83 Q
du, =2 =20_ 4609V

A, 115

Exercici 4
P 250

a) n(%) = 100, = 100522 = 91,13 %
b E=2=22=3281v; R =LE5=20381_04190

1 7,62 1 7,62

C)E'=U—-R;-06-1=36—-0,419-0,6-7,62 = 34,08V

B o 3408
nEMES 32.81

= 3999 min~!
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OoPCIO B
Exercici 3
a) Xc = i - 21'[1fC - 21'[50~210~10_6 =159.20
A :%:%:2,51,4
b) Ay == =12 =4A

C) Ay = JAZ + A% = \[2512 + 42 = 472 A
d) A, =345 =V3-472 =8,18A

€) Protal = 3+ R A% =3-100-42% = 4800 W

Exercici 4

a) f=-=—1_ =250Hz

T 411073

b) Umax = 5% Uny max =~ 3,4~ 20 = 90,67V

Umax 90,67
C) Urms = Vo 64,11V
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SERIE 4
Primera part

Exercici 1
Q1 a Q2 a Q3 a Q4 d Q5d

Exercici 2
a)

{Rlll + RZ(Il + 12) - Ul + UZ + U3 N {(Rl + RZ)Il + Rz[z = Ul + Uz + U3
R3l, + Ry (I + 1) = Uy Ry1y + (Ry + R3)I, = Uy

R 4R, R, ][[1]:[U1+U2+U3] . 13 10][]

R, R, +R3 10 15
I, =2421A
I, =—0,947 A

b) P, = Ry(I, + I,)? = 10(2,421 — 0,947)? = 21,73 W

c)
Pyy = Uyly = 5-2,421 = 12,105 W
Py, = Uyly = 72,421 = 16,947 W
Pys = Usl, = 10 - 2,421 = 2421 W
Pys = Uyl, = 10 - (—0,947) = —9,47 W
OPCIO A
Exercici 3
ap=+4
b) r=5=ﬂ§1—5247Nm
w 728
P 4000
©) 06 =100 5 cocs = 100 Fano 00y — 0448 %

d) 4 kW
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Exercici 4
P 12
b) I=;=7-=08A

o _230-12-U _230-12-15

230 =RI+12-
30 + u - ] 0.8

= 62,50

b) Px = RIZ2 = 62,5-0,82 = 40 W
C) Protal = PR + 12 Plampada = 40 + 1212 = 184 W

dP=0W

OoPCIO B
Exercici 3

a) V, = R,A, = 501,437 = 71,85V

b) A = —2— =225 _ 3593

XL-Xc  50-30

c) A; = /A2 + A% = /1,4372 +3,5932 = 3,87 A
d) W, = R,A% = 50-1,4372 = 103,25 W

e) W, = RyA?2 + W, = 50-3,87% + 103,25 = 852,1 W

Exercici 4
P 60
a) n(%) = 100ﬁ = 1005 = 83,33 %

pr=2=—2_=7308mNm
w 7840—

60
) E=2=2c=30v
1 2

_ U-Up—E _ 36-12-30
- I - 2

R =240

dE'=U"—-R{-07-1-U,=30—-24-0,7-2—-12=2544V

n' = n% = 78402% — 6648,3 min~!



